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And a Toh’hoir on whose head fell, etc. - 9910 MWK DY YR TN

Overview

One of the 727 11" is that if three 2% of 2 21RW 2°n fell on a v, he becomes Rnv
and is 72170 H0w. Our ModIN explains why by a Mnv he is 81w only if 17y 1791 but
not if 2°2IRW 212 121 WK K2 like a X»o.

nooIN asks:
=139 91203 199 AN 992 19T NYY 9932 ON 23 1911 NY 991027 NIY IN) AND ON)

And if you will say; why is there this difference, that by a 2, they did not
decree xMv unless the 023w 2°» fell on him, but they were not 91 if he
entered 12171 WX into 0°2XW 0°» as they were N3 by a 21 91aw?

N1B0IN answers:
- 195933 KPYT NIN I I 989 XY 90027 PNYY 195399 AN

And it is the view of the >''1 that by a 99 they did not want to be 9113 more

and include X271, rather they only wanted to be 713 by 579921 -
- 225A190 D2 1930Y NN DIINY D DYDY 9997Y 0Y9IY NS

As they were accustomed to pour on them 2921w 2% after they were 21 in

foul water -
SYRNNN NI X0 PO oI MY ] TIINY 0 OINIY /) DYDY DM M 3‘[1}:03 99INTD
+[Nan

As the X 3 shortly states, ‘and they would pour upon them three °3% of 2%
292N’

Summary
The 77°12 by a 7w was kept to the initial cause of the 77°7 by a °"12v.

Thinking it over
Does a 21 9120 become Rnv if P27 '3 fell on him, or only if 2°»2 1217 WX X2

Q2INY?

! The x5 states on X,7> that the reason they were 7113 on a 121 1791w 70 is because if not for this 77°13, the 7771 of a
21 712v would also fail. It should therefore follow that the 77°1 on a 1730, should be like the 77°1 on a >"av, and
include 2°2Ww 0°12 1217 WK KA.

> The main 771 by a >"12v was because of 12> '3 oby onn, therefore by a v, they kept the 77T to the
minimum.

3 %,7. In our text the words 112 s do not appear.
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